Final Study Guide 2
Math 120/121 Combination
1) Graphing parabolas by making a table of values

Graph 
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 by making a table of values

2)  Completing the square to solve quadratic equations


Solve 
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 by completing the square

3)  Using quadratic formula to solve quadratic equations, and writing quadratic equations given the solutions

a)Solve: 
[image: image3.wmf]2

10

xx

--=



b)Find a quadratic equations with solutions 
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4)  Finding the vertex of a parabola, using a)completing the square and b)
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, then plugging that value of x back into the equation of the parabola to find the y value of the vertex.

Find the vertex of the parabola by completing the square, then verify your answer by using the formula.  
[image: image7.wmf]2

285

yxx

=++


5)  Writing equations of parabolas given the vertex and one point or given the graph of a parabola.


Write the equation of the parabola with vertex (1,-3) going through (3,5)

6)  Maximization problems

A travel agent offers a group rate of $2400 per person for a week in London if 16 people sign up for the tour.  For each additional person who signs up, the price per person is reduced by $100. How many people must sign up for the tour in order for the travel agent to maximize her revenue?

7)  Solving equations for a given variable


solve for y: 
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8)  Simplifying complex fractions


simplify:  
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9)  Functions, including definition, domain, range, intercepts, increasing, decreasing, locating values and understanding notation.  Adding, subtracting, multiplying and dividing functions.

a) See Test 2 problem 10

b) What is the domain of 
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c)  Given 
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10)  Average slope between two points on a graph and secant lines

Given 
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,  find the average rate of change from x= 0 to x=3 and write the equation of the secant line.

11)  Library of functions: 
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See worksheet “Library of Functions”

12)  Transformations of graphs


Graph 
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13)  Composition of functions, including domain of composed functions


Given 
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 and state its domain.

14)  Inverse functions. Know definition and how to solve for an inverse function.  Know how to find domain and range of inverse functions

Given 
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, state the domain and range of the original function and its inverse.
Answers:

1) Parabola opens up, vertex at (3,1), y intercept at (0,10)

2) 
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3)  a)
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4) (-2,-3)

5)  
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6) 20 people

7)  
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8)  
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9) a) see test  b) 
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10)  m= 3, y=3x+1
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12)  See “The Transformed Function”  problem 10

13)  x, 
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14)  
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  domain 
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   range  
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domain of original function is 
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range of original function  is 
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